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Full Marks : 90
Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be multilingual, viz., in
English/Assamese/ Bengali/ Bodo/ Hindi medium, for their ready reference.
In case of any discrepancy or confusion in the medium/version, the English

version will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.

Unless stated otherwise, use n = %

wwaﬁmmmﬁmw:%&qﬁ«ﬁ%

WWC‘TWWWW=%2—WWI

T T AT 7t = %Ziam

TR R AR, v = ?,%wrmwmzﬁﬁq.

/30 [ Contd.

Scanned with CamScanner



(2)

SECTION—A / %1 / 3—"1 / F—aTgnn / ®—¥TT

Choose the correct answer :

% TE001 AR SR
u% Tealh @ Al
T e v g -
1. Which of the following is not a perfect square? 1
AR (FICH! 35 SR =y 2
NHT @ 7o 4 7w 2
T s9gr 9 R 727
frerfafaa & & m-d den oof =i 724 27
(a) 441 (b) 572 (c) 576 (d) 729
9 4
2. The value of [—g] is
9 4
—=| I A
3
2 4
-3 G 7 Al
914
-3 A 9= s
4
2
L2l wmHm
2 ?
_8 _16 8 16
@ -~ ® & © 1z @ =
3. The HCF of 135 and 225 is 1
135 9F 225 51 4.8, 2’7
135 @33 225 T ..8. ZCEl
135 3 225 f 2.371.491. SE™
135 31 225 H1 H. 9. 8
@ 30375 ®) 945 &Y 45 d 15
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4. A bell rings at every 18 seconds and an another bell rings at every
60 seconds. If these two bells ring simultaneously at an instant,
then the bells will ring simultaneously again after 1

51 951 18 (RCFS SIF HW <61 ¥ 60 (RLIYI TTALTS ICK | (FIA GF
STNAS O] IBT GCFeCs! M, (S8 OF AN (P AT=RS 51 o1 1
GCFeACs! MM 2 \
GFfo T 18 OIS R & G35 I 60 CILICS W K | (ICAT 4F
A S U1 I N IS, OA TR IS CLIS A B Y6 AT
G A ?

A T 18 AHUS AR T HHE T=r 60 Yahve BRI R @St wemn
o Tae R @mA?

T 9 18 Wh-s i gEl ¥H 60 A F fawel W awdt | Al TRt TR
THg 9 ] Hfedl Tk wy sor €, @ fha Ao % W18 QM1 el g U

IS Uil ExsE
El%z

(@) 30 seconds / (3% / C‘T@E [ AFTE / Uohee
() 60 seconds / ((I% / CIS / YHhve / UhS @
(¢) 90 seconds / (B / (IS /| TS / Uohrs

_(d) 180 seconds / (39 / CTTS / GHUS / Ve

5. Which of the following is a polynomial? 1
T (RCOT T2 2 —_
Ao PG T2 ? P
TREfA J=T frEm=E? ElsE:
freferfea # & -7 957 ?7
(@) 1 (b) x2+29.c+19
x2+2x+19
(c) 1 (d) +x+19
x+19
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8. Consider the following pairs of linear equations :

S (AT TP @EEED R F41

Aeva e AP (FreIEee Reas= I -

e FERTR g9eR o TeRaE) 9F ¢

frefafa e woiwm & gl W wm i

(i) 3x+2y=25, 2x+3y=25

(ii) 4x-3y=9, 4x—-3y=8

Choose the correct alternative.

u% Rewd ik Tered |

% Rl Qe e |

N9 @i ' e |

e fawew gf)

(@) The pairs in (i) and (ii) are consistent / (i) 5% (ii) I (A¥ (AR
RIS / (1) @G3R (i) -9 (RSS! 19 / (3) 3R (1) T T @Re=
/ (i) 3R (i) % g™ "ra &

(b) The pairs in (i) and (ii) are inconsistent / (i) W< (ii) ¥ @R
(PR SRS / (1) G (ii)-97 (STOIGEN SRS / () R (36) T
S TSI @R / (i) 3R (i) § 39 3@ &

(c) The pair in (i) is inconsistent, whereas the pair in (ii) is
consistent / (i) S (IACHI SPRTS, 7 (i) I TR 1S / (i)~
(eI SPiRerS, 1% (11)-9q (ool R2ere / (1) 7 9 "wery @enfy, wrem
(i) T TR WReEHE /(1) # W s R, 9 (1) § 3w i R

(@) The pair in (i) is consistent, whereas the pair in (i) is
inconsistent / (i) SR (IRLH! 3257e, f¥F (i1) I CARTH! SPRSTS / (7)-R
coeIfb A6 6 (14)- <R (eIl wpiRere / (i) 1 5Ty @R, e
(i) T TR @R / (6) % 3w wa R, Sehh (G0) § gm o 2

7. The number of roots of the equation (x +2)3 = x3 — 4 is 1
(x+2) = 23 — 4 R o T2 7
(x +2)% = %3 — 4 Waem o 2w =g
(x+2)3 = x3 - 4 TAFURRA A5F sEfmmE saE
wfieR (2 +2)3 = x3 — 4 % Tt 6 v 2
(@) 4 ®) 3 & 2 @ 1
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8. The first term of an AP is 4 and the common difference is —3.
The fifth term is 1

b1 ST 29T AT °F 4 IF TYRT T@T —3 207, %] oMl 27
(B ST 29SF A% o7 4 3R TR WFA —3 A, % o =

A WG e fifs foee 4 oy smieR sy —3 s, anfy
foreman sme

T THIR S 1 W99 U5 4 ¢ 3R 4 3t —3 ¥ | uiwaf ge @

(o) -8 ®) -11 () 16 (@) 19

9. D and E are points on the sides AB and AC respectively of a
triangle ABC. DE || BC, DB=17-2cm, AE=1-8 cm, EC =5-4 cm.
AD is 1
ABC&WABWACWWDWE@T%IDE”BC,
DB=T7-2cm, AE=1.8cm, EC =5-4 cm. AD 2’9
ABC fq9ts9 AB @3} AC IS & D g3: E 4t %1 DE || BC,
DB=7-2cm, AE=1-8 cm, EC =5-4 cm. AD %=
ABC Im@ifaemiy AB 3Rt AC mafaft e wid D R E dee
fa=\| DE||BC, DB=7-2cm, AE=1.8 cm, EC =5-4 cm. AD f
'@
foret Bis[st ABC it =it AB 3R AC R 9% fag D ol E @@ %) 3R
DE||BC, DB=7-2¢m, AE=1-8 cm @1 EC =5-4 cm 3 8, @

AD %19 &
(@) 4'8cm (b) 36 cm (c) 24 cm (d) 12 cm
10. The distance between the points (a, b) and (—a, —b) is 1

(a, b) TF (—a, — b) R 7R Te@ 17g 2’4

(a, b) R (—a, — b) Y 76 IR 79 2=

(a, b) 3R (—a, — b) o) TR Tonf S A
forgati (a, ) 3R (—a, - b) FFa N ghH 2

@) 2va?+b2 ) 4Ja®+ b2
(c) O (d) 2(a+b)
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11. The surface area of a cube is 600 m2. The length of each edge is 1
b1 T BRI 600 m 2. TR 2ifecH! Wi oreh zaT
% T B Cwaw1 600 m2. TR A w1 2w oo 20
AR o7 Frgaeezf 600 m2. vl smarffy 3'am
Th o7 F JEH 966 600 m? B | wdw BRR 41 wR ) o 2

(@ 15m _®) 10m (¢ 8m (d) 5m

12. What is the probability of getting a number 9 in a single throw of
a die? 1

91 el R TR 9 oiRE PR R 2

G T TTI TCE 9 “Neu FSEE I 2

TN W TREARTE 9 A TN STeEemET a8 ?
- T T I TF AR HFA A 1 9 TH €N A i w4 37

(@) g ®) 1 ) % @ 0

SECTION—B / ¥—*N / ¥—>I¥l / @—aTert / @—m

1 he length of a rectangle is three times its breadth. If the area of
the rectangle is 432 cm2, find its perimeter. 9

b1 SHSCFGT 07 O 2% 3T | ARSCFABR IR 432 em?2 2,
e {8 A 46 |

b SHCTHCIA O O AEA AR | AROrwADE (w432 o 2
e, 9 SRS e e |

TR AEGIEE MR A AR wHIm | sy TAT T
432 cm? s, St WA Rmme g

@mﬁmmaﬁwsﬁf?ﬂq‘m%mﬁmm%mﬁz cm?
2, T et afem 3@ v
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_ K (7) /
5 = 7 9 K= T
_ : K e
1 N\
{14 )I‘l’ x varies directly as y, and x = 6 when y = 30, then find the value
7 of y when x =2. 2

MW x Q y T TS ASPFOL KB A WF y = 30 T x = 6; (SR A
x =23y I A [efa 41

MM x, y 9 TF Aorwerd 570 3@ @R y=30 A x =6; O
x =2 R G y &3 T fAefa e |

fiig x o y B s |emaen oM y=230 wEEN 2 =6; I x=2H
urEr y T w7 gl

e x 3 y TAEAER ¥, 3R x = 6 Fm T y =30 ¥, @ y F A @ hIST
vd x =2 8| El.ﬁ'lil
A%
15. Solve the following pair of linear equations : 2

ol (AT SRNFITIR ST F47

Neoa (AT A (HUI FTYH FA

el gEe FHEETE R AEgeR g e = K7

Pt s ool S gm A AR 2) X '15" ’
0-2x+0-3y=13 o Cen= (O

0-4x+0-5y=2-3 ﬂ/’/"’/

16. The product of two consecutive positive integers is 306. Find the
integers. 2

w51 TRk IATIF STX% SR S[@F 306 2T, TR 1 Fef 41
b RS IR TR0 SR [ 306 2, A 6 ey A |

T SR eE O AR gESETaen 306 e, i e
feg E%5E

s ]

A FHWIG YATAF UITeh! 1 USRS 306 ¥ QU i @ hifol EIREE
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17. Find the number of terms of the following arithmetic progr ess10n

7 oo A AeTCBR R e T
Neva e 2AsfeBa e e e
e wEgfa s faemafy smfmm! fog -
Prefafaa gaie 4 & et & G&a1 39 HT

7, 13, 19, ---, 205

line intersects the sides AB and AC of a triangle ABC jft,' Dand E
respectlvely, and is parallel to BC. Prove that — AB A 1

e (IR ABC {49 AB 5IF AC I=F G DWEﬁT\oWBW
AD AE
@reE BC I STNBAT | =~
zmqwczzAB C

936 (A ABC fageR@ AB 93 AC T TN D @R E [Co b 933
mﬁchwwnmqmmAD >

AB  AC’
W TEIRT ABC J@¥uami AB 3 AC J@=ra 1Y D 31 E

IECHE ICRARC K| m‘rsr@anBCﬁﬁ-mqﬁ(m@amﬁAD AE
AB AC

W13 @1 T s ABC i y[13Tt AB 31k AC %1 0 D iR E W ufiede
m%wgmBC%m%lﬁaﬁﬁqﬁﬁ—%

7 . .
If cotb= z, then evaluate (1+sin6)(1 sm(-))-
8 (1+ cosB)(1— cosb) )

(1+ sinB)(1— sinb) .
(14 cos6)(1— cosH) A f 4

‘ﬂf‘?cot9=g o3

7 (14 sin6)(1— sin®)
9_ _, B
It cot 2 e Ay g— CER I CRECHE Tl

(1+ sin6)(1— sin6) _
’ (1+ cos0)(1— cosh) o ﬁ§=[|

7
8
7 ~ (1+sin6)(1—sin 9)
7 & Ry
R cotf = 8  (1+ cosf)(1— cosh) AR !
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20. If sin(x+y)=1, cos(x—y)=£ and x>y, 0°<x+y <90° then
- 2
~ find x and y.

% sin(x+y) =1, cos(xhy):g qF x>y, 0°<x+y<90° (B
x'\'ﬂﬁyﬁ‘fﬂﬁl

V3
2

% sin(x+y) =1, cos(x —y) = qaR x>y, 0°<x+ y <90°, OHA

x 93 y 8 I

ﬁ!g sin(x + y) =1, cos(x—y)zg I x>y, 0°<x+y<90° =1
xﬂﬁyﬁﬂﬂﬁ@l

N

Rk sin(x+y) =1, r:os(:vc—_y):7

H}lxaﬁ'{yaﬂmﬁmﬁﬁm

MM x>y, 0°<x+y<90°

21. M the tangents PA and PB from a point P to a circle with centre O
- are inclined to each other at an angle of 80°, then find ZPOA. 2

i @51 R P 3 *R1 O (F%gS <61 89 PA F PB =3 FO& °/~R
80° (I I, (B8 LPOA e 341 |

M @I R P @7 (0T O FHY® @I [e PA 3 PB =3 b
=94 80° (11 ICH, 1A LPOA Refa ean |

frg 9@ fa= P fiwvm O freii @@ SwAf PA 3 PB Fifg <ten
TESITE 80° T AR, e LPOA f am R

IR g P ¥ O ¥= 9 fft 99 W PA 3R PB wdi-t@nt wew 80°
% o | Gl &, @ LPOA 1 HH T1a i
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)A box contains 3 blue, 2 white and 4 red marbles. If a .marble i.s
drawn at random from the box, then what is the probability that 1t

will be (a) white and (b) red?

a5 IRRS RFG1 [em, B 3N W GRG I8 TLA WC | I BT T
ARSI B 2, (S8 G2H1 (a) I IF (B) 1 (AR S fFam 2

35 ey foaf e, 76 @32 el =1 o= wem | A @@ WA
TfRFSc B =W, ©meE «Gf (a) ST @3e (b) Fe 2SR SR TS 2

T THGATE W 3 e, W 2 TR AR W 4 e AR 7 | 9 W W
ARG WraEE d qEArEdl, ST W R 0 (@) TR IR (B) W

T fesd 4 3 A9, 2 v o 4 w42 2 3@ e § @ AR ww w0
el Fren S R, @ @R = wREa & B feen @ s (o) 9%
aq1 (b) & 27

-/23./ "Mr. X and Mr. Y are two friends. What is the probability that both
will have (a) different birthdays and (b) the same birthday?
(Ignoring a leap year) 2

8@ X o fBR Y 00 99 1 [ (o) R e o (p)
@R[ Fifde] &2 (FiefEwm Im f) @

PP X @3 fPR Y &0 39 | TR (@) Row wfin 3
S 26 FSRA 1 2 (11 S aw figm) O R P

P X i fer ¥ e et e (o) T i
=
SIS R (Leap year @ o) AW (b) @

BIBE T
STEI-3TEFT B T (b) Bt 1 FRA O & By (:nggjgmﬁq
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SECTION—C / S—>ii<it / 51—l / T—=Tgrit / T—w0T

24. Prove that 3+ 24/5 is irrational.
o T4 (@ 3+ 26 SR | E%sE

o A (@ 3+ 25 Sefficam | EIREE
FREE @™ R 3+ 24/5 3 TS|
g Fifsm 76 3+ 24/5 T ity g B

. Find the quadratic polynomial whose zeros are —4 and > 3
4B fReTS I2oMI *[FICILB] — 4 AT gs’m, 2ol e 5 |
G3fb AT TRATA *FHAf — 4 9 gm, oMb fRefg T |
mwﬁwﬁmmﬁwwm_4mgﬁamﬁ@ﬁ@

%maa@amﬁm,ﬁﬁ%?ﬁsﬁ%-4afﬂ%

Viﬂd the roots of the following equation : 3
SO RPN JoACF! feff 4

Of710]
Mevx FMFeba Pl ey e é%
e FAAAEH JeTerE g -

Frfefaa e % 3@ @ Al
V2x2 4+ 7x+5V2 =0
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27/ An AP consists of 50 terms of which 3rd term is 12 and the last .
term is 106. Find the 20th term.

mwaﬂmsom%umlmﬁmmwwﬁﬂmws

7o, 200 o1 e 1 |

aaf IR 29fece 500 oK R | ¥ PO W 12 @R ST o 106
20, 299% ~mib AT I |

TR e S wR 50 faem 31 3 amfy e 12 A S
faern 106 s, 29 f faemat fg)

wF TR A & 50 W &, R dew wg 12 & 3 sifm 13 106 T T
2941 g J1a Hifeg|

ye diagonals AC and BD of a trapezium ABCD with AB || DC

intersect each other at the point O. Show that oA = OB 3

oC OD

ABCD GPf&amR AB || DC, AC 9 BD 3{eRa O s s~ I53fb
OA OB

Wlmﬂeﬁﬂ%_o—l).

ABCD Wnfé@cas AB ||DC, AC <% BD B O Rege omsm
OA OB

18 (W — = ——

ABCD fufmmft AB || DcC, ACmBD@mBi@aﬁmOﬁa’rm
it T el R fy A _ OB

OC oD
@me&aABCD,ﬁmﬁABnDc,a:ﬁmfAcaﬂtBDmﬁgo
s 1 v O OB )
B21-GM/30A
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9 f @(0,1) is equidistant from P(5, —3) and R(x, 6), then find the
value of x. Also, find the distances @R and PR. 3
T Q(0,1) Rl P(5, —3) WIF R(x, 6)F Ml SO, (OB x B T

Tfeied] | #15ce QR WF PR ({93201 Sfered |

ft Q(0,1) R P(5,—3) @ R(x,6) 99 (VF RIS, O x ¥
T {39 1 1 370% QR @R PR Rwsfel fRefy e |

g Q0,1 R=en P(5,-3) M R(x,6) T o guremusaE 3,
arsen x B A g M@ QR amY PR 1 srerms fagH |

Ik Q(0,1) fargelt P(5,—3) 3R R(x,6)d a9g®y B, d@ x H WH ¥
$ifo) gREf QR 2t PR +ft 7@ Hifsi)

ind the coordinates of the point which dividgs\the line joining the
points (—1, 7) and (4, —3) in the ratio 2: 3. : 3

R (~1,7) oF (4, —3) T KM @ST 2 : 3 SHAES O F1 RABR
FIIE fef 4 |

R (—1,7) @32 (4, —8) 97 TN @IRGF 2 : 3 TAilcs ©io 1 Rexfoa
FIIS e e |

(-1,7) 3 (4, —3) o= TR AR T @R 2 3 SgUReTE
T T emafy femrma fogm)

3@ forg & Fdwiss g Aifsrg, st forgett (-1, 7) =R (4, — 3) = fae™ @@
tarEs W 2 : 3 % Igurd & e s B
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yﬁluaw/mﬁ@w/mﬁ@m/wﬁylmmﬁﬁu: 3

sin 30°+tan 45°— cosec 60°
sec 30°+ cos 60°+ cot 45°

- yﬁe cost of fencing a circular field at the rate of ¥ 24 per metre is
¥ 5,280. The field is to be ploughed at the rate of 0-50 per m?2.
Find the cost of ploughing the field. 3

=S fbRS 24 B TA© W JORR NI @I B IS 5,280 T XT6

= | AR AfS RS 0-50 591 T9© 2 ] A | YT TH @RI
%435 Ay 347 |

‘ 2fe fioea 24 B 2@ @3 TORE AR @@ (RSAR ICw 5,280 T
\ w6 20 | TR afS MA@ 0-50 T =ca == vy TS =3 | T T
BICRR 436 fefa 3can |

~N AT SR BRSOl S8 dEwn fieremE 24 U@ 5,280 O W@
N HAE! HTHE &1 fensE 0-50 TR 6 TEHE WEE | SR g ey
JaE! g |

TF JAHR @ W 24 o W fR H @ A 918 TN =1 =91 5,280 %o 3| 9

@d A 0-50 Fo fd i M A R A Fag FE I ) Fa A g =W W=
= FI |

83, 1n a circle of radius 21 cm, an arc subtends an angle of 60° at the

centre. Find (@) the length of the arc and () the area of the sector
formed by the arec.

21 cm IPTR @61 J8©, 9B WA @FHS By Go° @Y Teorw g |
(@) SI°ICBA 07 w@mﬁnw%mmﬁww&cﬁ:ﬁn

21 cm IPTETE 8, 9 b1 38T @em goe

T B I |
(@) 513 07 3% (B) BeIfS =T Beom zey FE | O

TR e farefy g |

B21-GM/30A
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AR IR §'@E 21 cm IR T SRemET e 60° @' AW Bl |
(a) SRR ARITE W (b) SR GHREATE @< s Rg|

1S 21 cm R 99 F1 TF 99 FR R 60° F H07 ARG Hal 81 (@) T
it T 3R (b) = g0 E T feads F1 Ahd I HINT EeesE)
OR / 9931/ 91331/ Tar/ Srerat Ez%

ifid the area of the sector of a circle with radius 4 cm and of
angle 30°. Also, find the area of the corresponding major sector.
(Use = 3-14) 3

4 cm UPTEYS WF 30° (IR GBI J&1 JSFAGH Ffe AT 11 ACS
S T3 JEILANGR el 3 31 1 (0 = 3-14 o1 4f340)

4 cm IPIHTE @2 30° (I @IS 0 JSIAL CFAFS e P |
A SR YA JEIAIMNA CFaFA I A | (= 3-14 3¢ 49CA)

AR ¥ §@E 4 cm AR e GmiEE @9En 30°. d@RiH
TeAsfy fogd | aTema, SfF A S gsesfy g ) (o= 314 )

591 4 cm T TF I9 ¥ BroI@s w1 A% I Hife, Eew wo 30° 2|
q @, T < Breaws 1 8ekd ot F1a AT (7= 3-14 %1 T Hif)

SECTION—D / S—1<l / §—>II4l / 9—<TgRMt / G370 E’:% @F

384. Pind the zeroes of the polynomial x2 —3and verify the relationship
between the zeroes and the coefficients. 4

x2 3 TRAMOBR *F SRied W @R AR W R qE 7o

1 41 | N Y
I 6

x2 —3 TR T (R I GR @2 [FSH G ReiglR Wy e
A FCA | b o
22 — 3 femiaif ahEwE g I A e R R aERERR /
TR <) SR G |
TER x —3%@%%&@@%%&&3%@% -
e = witg hifsg) f

S )

B21-GM/30A L// ) [ Contd.
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85. For which values of a and b does the following pair of linear

' infini lutions?
equations have an infinite number of so i
o WF bA P TE (FIT TR (ARG NIRRT FRAF A

T 2
a @ b 97 B W cFCa Novd AR HASA (FOR S TGS A
PR 7 |

¢ 3 b B W AR umEm TEER gEeR GEHYE 9 U S M
HEFUTE YTTA?

a 3R b ¥ i T ¥ v Frefifaa Was wewn & W F STAREA €9 @
I T E?

x+3y=17 (a-b)x+(a+b)y=3a+b-2

21 4 (A 94 PP qS Bl (AR FABAA |

219 FCAT (T TSI AR NAW O =opfpafe STrmare |

A SN GEEEi e 9 ke 99 it @ o st
fore fife 5 feet 9o 5 vt oo & R m ot 8 ooef -Yamd wmiR
Bt £

OR / 9931/ 9931/ Tar/ sterar

Prove that in two concentric circles, the chord of the larger circle,
which touches the smaller circle, is bisected at the point of contact,
Two concentric circles are of radii 5 cm and 3 cm. What is the length
of the chord of the larger circle which touches the smaller circle? 3+1=4

ﬁmwm@qu,mamwwmww,
woE =pfiiye FEdies =7 | 5cmw3cmm¢§@1ww
mmwmqu@w*ﬂ#m,wtﬁiﬁ%ﬂm?

M I T T T3, T 39 W = e mopf e
W =pRege SRS = 1 5 cm R 3 em IPMLT 1B m%?ié
m.wmﬁm@ﬁﬁgﬁwwwm,meW?

fufem@ien wifie fo<iem @ amg’'sm 5 cm I 3cm':’t§qﬁﬁa?ﬁ::2
mwélmmﬁﬁﬁa@mmwmm,ﬁw

Tl
mmﬁamﬁﬁ@ﬁﬁm,ﬁﬁﬁﬁww%

oyl farg W wwlewiom &t &1 9 Tty o oy
aggaﬁmmahmwﬁﬁq,sﬁﬁ%';“w@ 5;:_;;?1 3 cm %)

1-GM/30A
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Wt a triangle similar to a given triangle ABC with its sides
= 3

equal to " of the corresponding sides of the triangle ABC. (Write

the steps of construction.) 4
%1 79 fige ABC 3 pits W b fiss W 34 e WR IRAR
mcmmﬂmga«mn(awmﬁﬁﬁl)

a3 772 fage ABC a7 591 w1 ofb frgs wma w1 cfbes @ areaf
ABCﬁrmWﬂwaﬁa%amml(mmﬁmaﬁm )

ucmﬂmmm%ﬁmmﬁiﬁ@w

srafaum ABC f we@ smafagm snfa) (snfiaams smmera fr )
e m fnm ABC % wwew v fgw A Aif, Rt et Ry m
ﬁwmcﬁmwﬁﬁ%ﬁl(m%wﬁﬁml)

SECTION—E / & —>e1 / & —>¥] /| S—aTZTM / T—WT

solid toy is in the form of a hemisphere surmounted by a right-
circular cone. The height of the cone is 2 cm and the diameter of
the base is 4 cm. Determine the volume of the toy. (Take © = 3.14) 5
b1 SYLFFA ST b1 AW JOPA *IFA T WG 4 SPGBy (M
TE &R (X' | FOR TS 2 cm T PRI TP 4 em. =GR
SR Ay 34 1 (= 3.14 I «f34)

@3 JYACFA ToR 93 o13-3BW 1§ I 93 (3 oS A = |

=gt THS 2cm R TEA FM 4 em. (FEIHI WEe Ry @
(7 = 3-14 I ®R)

TR A AR G AR SER e SIS @ qe |
SEgR SR 2 cm AW IR @EA 4 cm. FAATH IR R qR
9P SEATR N FH SRR 9w T o Fuent Asmrf s
R&I (n=314 W)

T 3 Fae e & R w1 @ B ® w weede v swmife 3
g A F91€ } 2 cm 3R AMUR F AW 4 cm B W RaeY w1 e TE
HRT) (1 = 3-14 i)
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e followinig table shows the ages of the patients admi
Q(Mtzing a year :

0535 | 3545 | 45-55 55-65
) 14 5

tted in a

Age (in years) 5-15 | 15-25
Number of patients 6 11 21 23

Find the mode of the data given above.
@A B TRAS 3 PRCTEmS % (21 @ T e Sl (IS

29 :
7 (IAS) 5-15 15-25 | 25-35 | 3545 | 45-55 55—6:5
@i e 6 11 21 23 14 5
8 T SR 3219 TfeAed |

R @I /R I BRFeTEE = 260 @A I AGI SIS
AAT 27

7 (IRA) 5-15 15-25 25-35 35-45 45-55 55-65

QIR A0 6 11 21 23 14 5

TR (7S SR IS AT I

TEER FARA KA TR @ FEmEieTd § R e aaferiy

SR fafemn -
& (@vemE) | 5-15 | 15-25 | 25-35 | 3545 | 45.55 | 5565
M 37famT 6 11 21 23 14 5
i A @i e R | |
Trfeitad aroft fohelt srearel & o fodiw &d F ool wu Aft
iy 3 A g
g (@%) | 515 | 1525 | 2535 | 3545 | 4555 | 55.0c
i Faem | 6 11 21 | 23 | 14 | .
SR ——— -
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OR / @weq1 / Seray / war / sreran
If the median of the
values of x and y

distribution given below is 285, then find the
o fRrerem ) 28-5, (S8 x WF y 3 T Bfered :

R RSTSTT 1 285, wrecet x ¥k y T Pl A

RIS BT Tamify Fomamn 28-5, IeeT x A y T A= g

‘Tﬁ‘ﬁ%ﬁm@mmm 28-5@,?ﬁx3ﬁ1yﬁmmw:

Class interval | 1% 55314 | Frequency/ 33!/
1T WEAE/ arE) @) F Sare | IR T TRARAT

0-10 5
10-20 x
20-30 20

3040 15

40-50 y
50-60 5
Total/ Y3/ (316/ T8/ a1 60

* % %
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